DELHI PUBLIC SCHOOL, BHILAX (C.G.)

Time: 3 hrs. MID TERM EXAMINATION, 2018 £0.09.18
Class: [X MATHEMATICS VL.M.:80

General Instructions:

L Al questions are compulsory.

2, The question paper consisits of 3 @ questions divided into four sections A, B, C and D.

3. Section A comprises 6 questions of Intark each.

Section B comprises 6 questions of 2 marky eaclt.
Seetion C comprises 10 questions of 3 marks each.
Seetion D contains 8 questions of 4 marks each.
4. Internal choices are given for 4 questions of 3 nwarks and for 3 questions of 4 murks.
5. Use of calenlator is not pernitted.
SECTION-A
(Questious 1-6 earey 1 mark each}

i, Write a rational number which does not lie between the rational numbers % and %

3 Write the co-ordinates of the point which fies cn the y-axis at a distance of § units from origin in the negative
direction of y-axis. ' '

3. Write any one postulate of Euclid’s.

4. Inthe given figure, AOB is a line. Determine x*. -

2 bt %
=T 1
o LN bo /
o B ®
P R
5 In AARC, £A4=155", ZB=80". Name the shortest and the longest side.
-
(]
. A 2
6. Write one example each of a (i) linear polynomial (i) constant polynontial,
SECTION-B
(Questions 7-12 carry 2 marks each)

1. Using the Remainder theorem, find the remainder when p(x) = 4yt =35 = 2x" +x—7 is divided by
(x+3). '

8. Find the value of each of the following polynomial at indicated vatues of variable
Mx)=5x" —2x" +3x—4 at x =1, ~1

9. 1f A, B and C ate three points on a ling and B lies between A and C, then prove that A8 + BC = AC.

10, If ABQCD, ZBPQ =135, LORC =40, then find ZPOR.

' A ¢ 8
£t I . —
Q 135
P Ao 2 5
< N
1 1. Prove that the sum of the angles of a triangle is 180°,
12. T which quadrant or axis do each of the point (—1,3), (5,-1), (=3,0) and (—1,—6)lie?
SECTION-C
(Questions 13-22 carry 3 marks each)
13. Find the value of 2’ and 5" if -1 a+b3.
J3+1
1
14. 1F @ = +/2 +1, then find the valuc of (a—%) .
OR
VNS Lo -
If x =3 +2+2, then find whether x-— is rational or irrational.
X
oG4
15, Simplify by rationalising the derominator, OR  Simplify —4 +5 + 4295 J5
G+443 4-5 445
o - ! .

16. Divide the polynomial 3x —4x* =3x =1 by (x—1) using long division method.

17. i § R aleulat ] k k .
W[th?ut actually calenlating the cubes, find th\e value of 27"+ (—14)‘ +(—1 3)‘. Write the appropriate
identity. ;

i8

. . . 1
. If a point C lies between two points A and B such that AC = BC, then prove that AC = %AB Write

appropriate axioms? ¢
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19.

I a transversal inferests two lines such that the bisectors of a pait of correspending angles are parallel, then

prove the twa lines are paraliel.

OR )
In the given figure PO is # line. Ray OR is perpendicuiar to PQ. &
0S is another ray lymg between rays OP and OR. )

Prove that ZROS = 5(4@03 —£ZPOS).

20. [n a quadrilateral ABCD, AC =AD and AB bisects £A , then show that AABC = AABD .
o
A 1)
)
OR
AD and BC are equal perpendiculars o a line segment. Show that CD bisects AB.
B 75_
(5] : A

20, tn an isosceles triangle ABC with AB = AC, the bisector of ZBand ZC intersect each other at O. Join A to
0. Show that {(HOB=0C (i) AO bisects £4.

22, and i are two parallel lines intersected by amnother pair of parallel lines ‘p’ and ‘q’. Show that
AABC = ACDA .

SECTION-D
(Questions 23-30 earvy 4 marks each}
23. Simplify the following 2 - l 3
. Simpli following : - —
S+ Bz 52
OR
Express 1. 32 + 035 asafr action in simplest form.

24. Locate +/7.8 on the number line. (No justification requrrud)

25, Factorise : 3v3a’ +8h° —27¢* +18y3abc. OR  x'+13x* 326420,

26. If the polynomial f(x)=p rdxd+3x-dand p(xy=x'—d+p are divided by (x~3), then the
remainder in each case is the same, Find ‘p’

OR
IF F{x)=5x"—4dx+5,find f(1) + F(=1) + f{10}.

27. PQ and RS are 2 mirrors placed pacallel to each ather. An incident ray AB strikes the mirror PQ at B, the
reflected ray moves along the path BC and strikes the mirror RS at C and again reflects back along CD. Prove
that ABOCD. P B A

A
—y—-r:ﬂ"?‘.fq;
e & 5

28. The side QR of APOR is produced to a point S, 1f the bisectors of s T
ZPOR and ZPRS meet at point T, then prove that ZOTR =iAQPR . M

0 R

29. In aright AABC, right angled at C, M is the midpoint of hypotenuse AB, C ISJomecI to M and produced to a
point [ such that DM = CM. Point D s joined to point B show that
(i) AAMC = ABMD (il £DBC is a right angle.

30. In the given Figure, PR > PQ and PS bisccts ZQPR . Prove that ZPSR > ZPSQ. \

) OR 9 L "
AB and CD are respectively the smallest and largest sides of a quadrilateral ’
ABCD. Show that £A > ZC and £B> 2ZD. D
A
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DELHI PUBLIC SCHOOL, BHILAI (C.G.)

. FIRST TERM EXAMINATION, 2018 Time : 2% Hour's
CLASS : IX Foundation of Information Technology MM :30

No. of Pages Printed : 1
Q.1)} Multiple choice questions (1%4=4)

1) The Physical components of the computer system are called

a) Software b) Hardware c¢) Firmware d) Liveware

2) This part sends signals to other parts.of the computer to tell them what to do
a) CPU b) Motherboard ¢) Icon d) Harddrive

3) This memory is for short term storage and is lost when the computer is turned off
g) ROM b) CPU ¢) Harddisk d) RAM

4) Which of the following shorteuts is used to open a new file in writer?
a) ctrl+S b) Alt+N c¢) ctrl+N d) ctrl+V

2) Answer the following question in brief : : {1*4=4)

1) What is & computer virus.

2) Define operating system.

3} What is a network.

4) What is a communication channel?

3) Answer the following question in brief :

1) Why is binary language often texmed as machine language? Why is machine language required?2

2) What do you mean by spell check of a document in a word processor? How is it actually done? 2

3) Which component of a computer system executes the program and how? 2

4) When do you think use of bulleted lists or numbered lists is more appropriate in a writer document? 2

5) What are the different components of a computer network? | 3

6) How can computers be classified? 3

7) What are thé various categories of software? ‘ 3
5

8) Make a labeled diagram of 000 writer document window.
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AN  DELHI PUBLIC SCHOOL, BHILAI (C.G.)

MID TERM EXAMINATION-2018

Date of Exam: 12.09.2018 English Language & Literature M.M.: 80
Max. Time: 3 Hrs. Class iX No. of printed pages: 4

General Instructions:

1. The question paper is divided into three sections:
Section A: Reading 20 marks
Section B: Writing & Grammar 30 marks
Section C: Literature & Supplementary Reader 30 marks
2. All questions are compulsory.
You may aitempt any section at a time,
4.  All questions of that section must be attempted in the correct order.

SECTION A: READING (20 MARKS]

1. Read the passage given below: | {8 Marks)

we role friends play in our lives has become mgmﬁcanﬂy greater than at any other
mm.e in our history. Today many of us live and work at-great distances from where we
were born or grew up and are separated from our original families, The pain we feel
when we are away from our families can be significant.

2 The happiness.of the individual depends on friendships which form a necessary human
connection. It is perfectly normal to need and want friends and depression is more
prevalent among those who lack friends. They lack the intimacy and richness friends

* canbring into our lives.

3. Communication skills are fundamental in all friendships. The more friends and
acquaintances-one has, the grester are ong’s communication skills. Some call these,
people skills.

bad

4, Like watering a plant, we grow our friendships and all our rélationships by nurturing
them, Fr’iezidsh’ips',',nitaed'the,sé{m;e‘- attéljitiomas other relationships, if they are to continue.
5. Sometimes a friendship can bring out the positive side that you never show in any
other relationship. This may be because the pressure of playing a ‘role’ (daughter
or child) is removed. With a friend you are to be yourself and free to change.
It is an unconditional experience where you receive as much as you give.
You ¢an explain yourself to a friend openly without the fear of hurtmg a family
" member.

6. How do friendshipsgrow? The answeris: simple. By revealing yourself; being attentive;
remembering what is most important to your friend and asking them about it; putting -
yourself'in their position; showing empathy; seeingthe world through the eyes of your -
friend, you will understand the value of friendship. All this me#ns learning to accept
a person from a completely different family to your own or perhaps someone from a
completely different eultural background. Thisis the way we learn tolerance.

1.1. On the basis of your reading of the }Jassage, answer the following questions briefly: (1x8=8)
a} Why has the role of friends become so important in our lives these days?
b} Why is depression comman among those who lack friends?
¢} What skills are fundamental in al! friendships?
d}) How is maintaining friendship similar to watering plants?
e} Why does friendship bring out the positive side of you?
f) Mention two ways in which friendships grow?
g) In what way does friendship teach us tolerance?

h} Find the word from the passage that means basic/essential {para 3)



2.

2.1

2.2,

2.3,

£

Read the passage given below: : {12 Marks)

1 There is nothing more frustrating than When you sit down at your table to study with the .
most sincere of intentions and instead of being able to finish the task at hand, you find your
thoughts wandering. However, there are certain techniigues that you can use to enhance your !

. concentration,

2 To begin with one should attempt to create the physical environment that is condicive to
focused thought. Whether it is the radio, TV or your noisy neighbours, identify the factors
that make it difficult for you to focus.

3 Also, do not place your study table or desk in front of a window, “While there is no cure
for a mind that wants to wander, one should try and provide as little stimulus as possible.
Looking out of a window when you are trying to concentrate will invariably send your mind
on a tangent,” says Ghosh.

4 The second important thirig, she says, is to establish goals for oneself instead of setting a gengaral
target and then irying to accomplish what you can in a haphazard fashion. It is very immportant
to decide what you have to finish in a given span of time. The human mind recognizes fixed
goals and targets and appreciates schedules more than random thoughts. Once your thoughts
and goals are in line, a focussed system will follow.

5 She recommends that you divide your schedule into study and recreation hours.- When you
study, choose a mix of subjects that you enjoy and dislike and save the former for the last so
that you have something to look forward to.

6 Try not to sit for more than 40 minutes at a stretch. Take a very short break to make a cup of
tea or listen to a song and sit down again. Under no circumstances, should one sit for more
than one and a half hours. Short breaks build your concentration and refresh your mind.
However, ba careful not to overdo the relaxation. It may have undesired effects.

More than anything else, do not get disheartened. Concentration is merely a matter of

disciplining the mind. Tt comes with practlce -and patience and does not take very long to
become a habit for life,

On the basis of your reading of the passage, answer the following guestions in about 30-40 words each: (2X4=8)
a) Mention two ways in which we can enhance our concentration. '

b) Why should we not place our study table in front of a window?

¢) Whyis it important to decide what you must do in a given span of time?

d} How do short breaks help us in our work?

Find out the synonyms of the following words from the passage: . {1x2=2)
{a} favourable({para2) (b} discouraged {para6)

Find out the antonyms of the following words from the passage: {1x2=2)
{(a) methodical, systematic {parad) {b) latter (para5)

SECTION B : WRITING AND GRAMMAR ({30 MARKS)

Describe a sporting event you attended recently in 100-150 words. {8 Marks)
You should say:

e what kind of sport event it was

e give details of this event

+ how often it takes place

¢ and explain why you consider this event to be interesting.

OR
You happen to meet your star idol on the festive occasion of Diwali and you feel on top of the world. Pen down

your thoughts and feelings in the form of a diary entry. (100-150 words)

Write a short story, in about 150-200 words, Begin your story with any one of the lines given. Also give a suitable
title to the story. - {10 marks)
| have been thinking of going on a voyage. And here came the opportunity to sail on a ship! | enjoyed the blue sea,
the silence ali around, amazing sunrise for a week. Then suddenly one day... e ceccenienens

OR

I stopped my scooter in front of an old and dilapidated building. A haggard, skinny old man with drooping shoulders

came towards me. “Don’t go in, Sir”, he whispered. “It is dangerous..eeenenn”



Read the passage given below and fill in the blarks by choosing the most appropriate words from the given
options. {1xd=4)

‘A stitch in time saves nine’ Is a popular maxim. It highfights the importance of time in life. One who (a)

{don’t, didn't, doesn’t hadn’t) care about time can never achieve his goals. Everyone (b} {should, can, may,
could) know the value of time to get {c) {success, successful, succeed, to succeed) in his iife. Time plays a
vital role in a {d} {student, students, student’s, students’) life.

In the following passage, cne word has been omitted in each line. Write the missing word along with the word

that comes before and after it. The first ane has been done as an example. {1xd=4)
Before Answer After
Word Word
Atal Tinkering Lab a work space Eg.tab is a

a} i where the young minds can shape

b} | to their ideas through do-it-yourself activities learn

¢} | innovation skills. Young children will a chance

d) ! to work tools and equipment to understand

the concepts of STEM (Science, Technology, Engineering and Math} | - - —

Read the conversation given below and then complete the paragraph that follows: {1x4=4)
Rohit:  When are you ieaving for Delhi?

Anik: | am leaving tomorrow.

Rohit:  Have you booked the tickets?

Anil: Yes. | have done so.

Rohit asked Anii a) for Delhi. Anil replied that b) __ . Rohit then wanted to know ¢)

the tickets. Anil réplied in the affirmative and added that d)

SECTION C-LITERATURE {30 MARKS)

Read the extracts given below and answer the questions that follow. Write the answers in one or two lines only.
(1x4=4)

| will arise and go now, for always night and day

| hear the lake water lapping with low sounds by the shore;

While | stand on the roadway, or on the pavement grey,

| hear it in the deep heart’s core.

a. Where does the poet wish to go?

b. Why does he want to go there?

c. What does ‘it’ refer to in the above lines?

d. Find an example of alliteration from the above stanza.
OR

When the humid shadows hover
Over all the starry spheres,

And the melancholy darkness
Gently weeps in rainy tears,

What a bliss to press the pillow
Of a cottage-chamber bed,

And to listen to the patter
Of the soft rain overhead!

a) What do ‘humid shadows ‘stand for?
b} What does the poet like to do when it rains?

¢} Pick the word from the poem which means extreme happiness.

d} Name the poetic device used in ‘And the melancholy darkness’.




10.

11.

P e
Answer the fo!lowmg questions in 30-40 words each. ‘ (2x5==10)_
a)  Who heiped Evelyn to continue with music? What did he do and say?
b) How can we make friends with the wind?
c) ' What was the fina! insuit the doctor is referring to in the story ‘The Shake and the Mirror'?

d) How does Ishwaran describe the uprocted tree on the highway? What effect does he want to create on the
listeners?

e} Why was Toto’s presence kept a secret? Where was he kept during this period?

Attempt any one of the following guestions in 100-150 words. (8 Marks)

When and how does the little girl Kezia come to know about her father’s real self? Does she appreciate and
understand the compassion her father has for her? )

OR

In which respect is your school system different from that of Margie? Which one do you like? Give reasons.

Answer any one of the following questions in 100-150 words. (8 marks)

Give a brief description of Toto, the monkey. Do vou think it is advisable to keep a monkey like Toto as a pet in the
house? Why? Why not?

OR

Compare the attitude of the child before and after his separation from his parents in the fair. Do you think it is a
natural reaction? Give reasons.

* % b % %
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PHYSICS
1. Draw a graph between momentum and velocity for constant mass. ‘ 1

2. {a) Underwhat condition are the three equations of motion applicable? 3
{b) Derive velocity-time relation graphically following the above condition.

)

(a) State any one difference between average speed and average velocity 3

{b) An athlete completes one round of a circular track of diameter 200 m in 40s. What will be average
speed and average velocity of athlete at the end of 2 minutes 20s.

OR

A motorcyclist P, riding motorcycle travelling at 36 km/h, applies brakes and stops the motorcycle in 10 s.
Another motorcyclist Q, travelling at 18 km/h, applies brakes and stops the motorcycle in 20 s. Compare
the distances travelled by both the motorcyclists before coming to rest. .

4. {a) Derive mathematical form of 2™ law of motion. Also define S.L. unit of force on the basis of this 3
form,
{b) Fruits fall down when branches of tree are shaken. Identify the property related to this observation
and mention the factor on which the property depends.

5. Give reasons for the following: 3
{28} A high jump athlete is provided with a cushioned bed.

{b} While stepping out of a boat near river bank, boat is pushed in backward direction.

6. {a} For a mass of 2 kg, the velocity-time graph is given below. Find force experienced by the mass in 5
regions OA, AB and BC.

(b} What is the necessary condition for holding of law of conservation of momentum? Explain recoiling
of gun on the basis of this law.

OR

{a) AcarAof mass 1500 kg travelling at 25 m/s, collides with another car B of mass 1000 kg travelling at
15 m/s in same direction. After collision, velocity of car A becomes 20 m/s. Calculate the velocity of
car B after coliision.
{b} Derive Newton’s 1* law of motion using mathematical expression of 2™
{c} Do the action-reaction forces cancel each other? Give reason for YOUr answer,
7. {a) Calculate the speed of tip of minutes hand of a clock, whose length is 8 cm. 5
{b} How is non-uniform acceleration different from uniform acceleration? {1 point) Give one example
for each case.
{c} What is the direction of force acting on a body moving in circular path? How do you determine the
direction of velocity in case of circular motion?

- CHEMISTRY
1.  Whatis meant by malleability? Name the metal which is the most malleable. 1
Why is ice at 273K more effective in cooling than water at the same temperature? . 2

WM

Write difference between evaporation and boiling. (Give three points of difference} 3
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{a} Which factors determine the state of a substance?
{b} Convert 30°C into Kelvin scale.
(c) Water droplets are observed on the outer surface of a glass tumbler containing ice cold water. Give
reason. ‘
OR
Name the process associated with the following:
{a) Adrop of ink placed on the surface of water contained in a glass spreads throughout.
{b) Milk is churned to separate cream from it.
{c) Fine beam of light entering through a small hole in a dark room, illuminates the particles in its path.

State the difference between solid, liguid and gases on the basis of:
{a} Volume {b) shape {c) kinetic energy
{a) 110g of sait is present in 550g of solution. Caiculate the mass percentage of the solution.
{b) Write three points of difference between mixture and compound.
CR
{a) Draw a labeled diagram of the apparatus used to separate a mixture of two immiscible liguids.
(b) Write down the principle involved and give two applications of this method.

Give reason for the following:
{a) Naphthalene balls disappear with time without leaving any solid.

(b} Steam produces more severe burn than boiling water.
{c) We can get the smell of perfume sitting several metres away,

PEQ
When light passes through a solution of alum in water, one cannot see a path of light through it why?
Give two examples of solution where similar results will be obtained.

A student prepared three solutions, a solution of alum, soil in water and milk in water. Can you
distinguish between the three on the basis of transparency and stab;lity

ldentify the clear and transparent soiutions from the following mixtures:

(a} Milk and water (b} Sugarin water {c} Chalk powder in water
{d) Starch powder in water {e} Giucose in water
BIOLOGY

What is DNA? Explain its functions.

Name the tissue that makes husk of coconut. Write any two characteristics of this tissue.

Name the following:

(i) Tissue that connects muscles to bone in human beings.

(i) Hardest connective tissue in human body.

{iif} Connective tissue with fluid matrix.

(iv) Tissue that transports food in plant.

{v} Tissue that forms lining of Kidney tubule.

{vi} Chemical substance with waterproof quality present in epidermal layer of desert piants.

What are the two types of Endoplasmic Reticulum. List any two functions of Endoplasmic Reticulum.

You can easily bend the stem of a plant without breaking it. Name the plant tissue that makes it possible.
Draw a labelled diagram of Transverse Section of this tissue.
OR
How are simple permanent tissues different from complex permanent tissues (one peoint)?
Make a flow chart showing different types of simple and complax permanent tissues.

(a) Give one word for the following:

(i) Cell organelle that contains chlorophyll.

{ii} Cell without membrane bound nucleus.

{ii} Lliving matter of the cell.

{iv) Process by which unicellular fresh water organisms gain water.
{b} What are the main functions of each of the following:

Lysosomes, chloroplast, cell wall

{a) Draw a neat and iabelled diagram of striated muscle fibre.
(b} Give three points of difference between striated and unstriated muscle fibres.

PBQ

Name the tissue which makes the plant hard and stiff. Name the chemical substance which is responsible
for this hardness,

OR
State any two characteristics of parenchyma tissue.

Name the stain used in preparation of temporary mount of onion peel cell. What Is the purpose of
staining?

Draw the diagram of a neuron with at least three labellings.
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HISTORY & CIVICS 40

1}y  Who wrote “The Spirit of the Laws”? 8]

2}  When was slavery finally abolished in French Colonies? (1)

" 3)  When did Pervez Musharraf come to power in Pakisthan? ‘ (1)

4)  Whatis PRI? (DO

5)  What does ‘apartheid’ mean? (D

6)  Who was the President of the Constituent Assembly of India? (H

7)  Describe the division of the French Society before the French Revolution. (3)

" 8)  What were the social, economic and political conditions in Russia before 19057 3

9)  Why do we need a constitution? 3)

10)  Explain any three features of democracy. (3)
11}  What were the main changes brought about by the Bolsheviks immediately after October

Revolution? ' ©{5)

12y Explain the ‘Reign of Terror® in brief. (5)
13)  What non democratic steps were taken by Robert Mugabe in Zimbabwe to remain in

power? (5)

14y  How was apartheid system practiced in South Africa? (3)

15)  Name the countries marked A and B on the given map of Europe/World. {1+1=2)

GEOGRAPHY 20

1) Name the Southernmost point of the Indian Union. Describe its present situation. (at=1)
2) What is the longitudinal extent of India? Why do the watches show the same time throughout

the country? (1+2)

3) a) Name the two headstreams of the Ganga. (Vatie=1)

b) State some economic benefits of lakes. (2)

4) What are the tectonic plates? Explain convergent, divergent and transform plates. (2+1+1+1)

{OR)

What are corals? Describe the main features of the island group which are of coral origin. (2+3=5)
5) Define water divide. Discuss the significant difference between the Himalayan and the

Peninsular Rivers. {(1+4=5)
6) a) Identify the feature given on the political outline map of India. - (D
(A) alake
b} On the same political map of India, locate and label the following : (1+1)
i} Konkan Coastal Plain i) Kanchanjanga
ECONOMICS 20
1) What kind of parents will invest heavily on the education of their children? ()
2) “Palampur is a well developed village™ Support the statement with reasons. (1+1+1=3)
3) Mentions any three provisions made by the government for improving the standard of
education, (1+1+1=3)
4) In which sector are the women are low paid and why? (1+2=3)
5) Explain Modem Farming Technique and Traditional Farming Technique. What are the
Limitations of Traditional Farming Technique? (2+3=5)
6) Compare economic activities with non economic activities. Further classify economic
activities with example. (2+3=5)
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